INSTRUCTION MANUAL

SETTON

TOWARDS PERFECTION

VH



S ©®~NO oA

21
2.2
2.3
24
25
26

3.1
3.2
3.3
34
35
3.6
3.7
3.8
3.9

CONTENTS

CAUTION

BEFORE OPERATING THIS UNIT PLEASE CHECK POWER
SOURCE VOLTAGE CAREFULLY.

INCORRECT VOLTAGE SETTING MAY SERIOUSLY DAMAGE
THE UNIT, WHEN CHANGING VOLTAGE SETTING, ALWAYS
REMOVE THE POWER CORD PLUG FROM AC OUTLET.




1. SPECIFICATIONS

AMPLIFIER SECTION

POWER GLITPUT oot i hasimiaiasidinms g

(RMS. 2 channel driven at 20 — 20,000 Hz,
0.1% T.H.D.}

TOTAL HARMONIC DISTORTION ...........
INTERMODULATION DISTORTION . ... .......

FREQUENCY RESPONSE

HUM AND NOISE
(IHF, short-circuited, A network rated power)

INPUT SENSITIVITY (for rated output) . ........

TONE CONTROL SWITCH
AUDIO MUTING

LEOUBNESS SWEFCH +..ovnon vonimman st s

{Volume control set at — 30 dB position)

HIGH: FREQUENCEY EILTER:: s mvmmn
OLEPUE EENEL: it memanss 5

POWER BANDWIDTH(-3dB) ...............

55 watts at 8 ohms (per channel)

0.1% at rated output

0.1% at rated output

20 — 20,000 Hz + 0.5 dB

AUX:
TAPE PLAY:
MAG PHONO:

MAG PHONO:

TAPE PLAY A:
TAPE PLAY B:
TAPE B:

MIC:

35 (1 kHz, 8 ohms)
MAG PHONO:

BASS:

{Turnover frequency:

90 dB
90 dB
70 dB (Low sensitivity)
65 dB (High sensitivity)

2.5 mV (Low sensitivity)
5 mV (High sensitivity)
150 mV

150 mVv

150 mV (DIN connector)
6 mV/10 k ohms

150 mV (Hi)
300 mV (Lo)

*10dB (62 Hz/125 Hz)

250 Hz/500 Hz)

Switchable/flat and variable

—-20dB

B0 Hz: +12dB,

10 kHz:

TAPE REC A:
TAPE REC B:
TAPE REC B:
HEAD PHONES:

10kHz: +35dB

- 10dB

150 mV

150 mV

30 mV (DIN connector)
Low impedance



FM SECTION

TUNING RANGE &m0 ot mn ai of 55k 88 — 108 MHz

LISABEE SENSUIIVETY: o, v sositis e Mono: 10.3 dBf, Stereo: 18.0dBf
IHE 8 SENSITINGAEY: sosnvamsninases st Mono: 1.8 uV

50:d8 QUEITING SENSITIVITY v angmesy Mono: 16.0 dBf, Stereo: 30.0 dBf
SELECTIVITY lalternate channef) ............. 70 dB

GCAPTURE: RATIOM we = sommen s sl m amans 1.25dB

EM DISTEORTIGN o e iveecon, v iton do ton s 2o 100 Hz:  0.15% (Mono)

0.4% (Stereo)
1 kHz: 0.15% (Mono)
0.4% (Stereo)

8 kHz: 0.4% (Mono)
0.5% (Stereo)
STEREQ SEPARATION : s i onsvies va is e i s 100 Hz: 32dB

1 kHz: 40 dB
10 kHz: 32dB

FREQUENCY RESPONSE .................. +05dB, — 2.0dB
(30 Hz — 15 kHz)
SIGNAL NOISE RATIO ................... 72 dB (Mono), 67 dB (Stereo)
AREE L TS g 8 Al 2 [0 T 5 S ——————— 14 dBf
SPURIOUS RESPONSE REJECTION ... s v an 90 dB
IF REJECTION won mnve v ammn ot sows o s prss s 90 dB
IMAGE REJEGTION: & wosonsm ey oo s Tumiss 80 dB
TAFE QUTPUT LEVEL .wu e iy s avwyies 077V
SUBCARRIER PRODUCT RATIO ............ 60 dB
APNERERNNI: oni s o oo s o s e v dertome 75 ohms unbalanced and 300 ohms balanced input

external antenna
AT 98 MHz, 65 dB INPUT SIGNAL, 100% MODULATION

AT 98 MHz
AM SECTION
TUNINGE BANGE e i i e ammm ou o smuimms 525 - 1605 kHz
SENSHTINATY HEY v, om0 o 46 4 s i 25 uV (Antenna terminal)
IMAGE REIEETION. oot smioivins s oo tnasis o 60 dB
SELECTINITY: o0l ol o i i e i cavising, 50 it s 45 dB
SIGNAL NOISE BATIO . . wmvs v siemmsams e 45 dB
AUDIO FREQUENCY RESPONSE ............ Upto2300Hz,—6dB
TARE: QUTPUT LENEL: - woswmeaims v enmsg 03V
DNEENNA voovopam di e s e s S0 e i Built-in adjustable ferrite bar, plus provision for exter

antenna
AT 1 MHz, 1 mV INPUT SIGNAL 30% MOD.
AT 1 MHz



2. CIRCUIT DESCRIPTION

FM FRONT END AM TUNER

The FM FRONT END and AM TUNER sections of this receiver are assembled on a precision printed circuit t
PSTU020COX.

1.

FM FRONT END

The FM signals applied to the FM antenna circuit will be led to the double-tuned circuit (T2, T3) and th
gate of FET (Q1: Dual gate MOS) RF amplifier through T1 and C2.

The amplified FM signal from the drain of Q1 is led to the Mixer Gate Q2.

Q3 is the local oscillator.

The oscillating voltage will be applied to the source of Q2 through T4 and C9 as injection signal for
conversion,

Both FM and oscillator injection signals will be mixed between gate-source injection of the Mixer trar
(Q2) and converted into 10.7 MHz IF signal and, then, amplified.

The converted 10.7 MHz drain output is led to the ceramic band pass filter CF1 through T5 and its out
applied to the first IF amplifier stage Q14.

AM TUNER

The most AM tuner circuits have been integrated in a small IC (IC3) and one transistor is used in th
tuner. (audio amplifier)

The AM tuner consists of two tuned circuit, one RF amplifier, converter, high gain 455 kHz IF am;
having ceramic band pass filter for increased selectivity, local oscillator and a tuning meter drive amg
T9 is the local oscillator coil. CF4 is the 455 kHz ceramic band pass filter.

The AM tuner output is connected to the terminal 14 on the P.C Board PSTU020COX and IC1, IC2 ¢
P.C Board PSPT0O07COX.

FM IF AMPLIFIER AND MPX STEREO DECODER

These are assembled on one printed circuit board PSTU020COX.

The IF amplifier consists of one transistor differencial amplifier, one IC amplifier and a muting circuit cc
ing of IC, and MPX decoder section, phase locked loop MPX decoder IC and precision de-emphasis net
The main route of 10.7 MHz IF signal is as follows:

10.7 MHz IF signal — Q14 differential amplifier —

10.7 MHz ceramic filter — IC 1 (1 pin) — IC 1 (6 pin) —

IC 2 (2 pin) — IC 2 (B, 7 pin) — L.P.F. Filter —

active filter (consists of Q5, Q6) — terminals 18, 17 on the PC Board PSTU020COX.

The detected and impedance-transformed signal at IC 1 PC Board PSTU020COX will be supplied to
decoder input terminal 2 of IC 2 on the PC Board PSTU020COX.

The decoded left and right channel signals will be obtained from No. 6 and No. 7 terminals of IC 2 (o
same PC Board).

SIGNAL STRENGTH METER
The terminal 7 pin of IC 1 (PSTU020COX) will also be used for signal strength meter drive source.
The DC voltage is applied to the positive terminal of the meter through RV 2.

AUDIO AMPLIFIER

The operation theory of the audio amplifier is not so complicated and generally failures in operation ¢
located by tracing the circuit where normal signal should be expected with audio signal injected to the
circuit.

A high sensitive with high input impedance oscilloscope will be required.



PROTECTION CIRCUIT

This circuit consists of L3 relay, Q5 or Q6, Q11, Q14, Q15, Q16 and PS1 on P.C Board PSMA026CC
{electrically-controlled protection circuit).

The relay is used for controlling the protection for speakers and Main Amplifier circuit. DC control voltag
developed at the terminals 3, 7 of IC1 or IC2 and if DC voltage potential exceeds a predetermined level

protection of speakers and ICs and Transistors, speaker circuit is cut off by the relay.

In the similar way, the control signal developed at the terminal 4 of IC1 or IC2 operates the relay for p
tection.

When Speaker Mode switch (power) is turned on, L3 relay does not operate during 2 — 5 seconds until M
Amplifier correctly operates.

When Speaker Mode switch is turned off, the relay cut off circuit from the terminal 4 of IC (both left :
right channels) to speakers output, instantly.

Also, if speaker terminals or speaker cables are short circuitted, the control voltage developes the differenc
electric potential between base and emitter of Q5 or Q6, and it makes Q11 ON, Q14 ON, Switching TR (
OFF, the relay operates and Protection Lamp illuminates, ICs and Transistors within Main Amplifier cirn
will be protected by the relay switching circuit.

When temperature of the radiator in this circuit has reached more than 90°C, the relay will be operated
PS1-detection and Heat Lamp will illuminate brightly.

When Transistor is broken down, the abnormal voltage developes at the terminal 4 of IC1 or IC2 and it m;
speaker circuit cut off by the relay for speakers protection.

When Clipping is occured for output level, the control voitage developed at the terminal 7 of IC1 or IC2 m
Q7 and Q8 operate, then Clipping Lamp will be illuminated by Q10 through Switching TR Q9. (clipj
protection).



3. ALIGNMENT PROCEDURES

Test Equipment

The Test Equipment listed below is required to test and to align the RS-440 FM/AM Hi-Fi Stereo re

1)

2)

3)

4)

5)
6)

Audio Signal Generator: Frequency; 20 Hz to 200 kHz variable,
output level; 0.5 mV to 1V variable.
Distortion; less than 1%.

Level Meter: Frequency response; better than 20 kHz.
Measurement range; 0.5 mV to 10 V or higher.
Input Impedance; 100 k ohm or higher,

Oscilloscope: Input Sensitivity; 1 mV/cm or higher,
Frequency response; 100 kHz or higher.
VTVM: Capability; 10 mV — 50 V, 100 kHz. Input Impedance; 500
or higher. Input Capacitance; 25 PF or less.
Sweep Generator: Sweep frequency; 455 kHz = 50 kHz, 10.7 MHz £ 1 MHz.
Distortion Analyzer: Frequency; 20 Hz to 100 kHz £ 0.5 dB.

ADJUSTMENT OF MAIN AMPLIFIER
No adjustment will be necessary because of the IC circuitry employed.

AM IF ALIGNMENT

1)
2)

3)
4)

Place the SELECTOR SWITCH in the AM position.

Connect the 455 kHz sweep generator output to the antenna terminal and chassis ground on th
panel.

Connect the oscilloscope directly to the pin 12 of IC3 and chassis ground.
Adjust CF4 for maximum and symmetrical scope display. (See Figure 1.)

a) At the pin 12 of IC3 b) At the TAPE REC

Figure 1.



4. AM TRACKING ALIGNMENT

1)  After completion of AM IF Alignment, place the AM bar antenna in the correct position by pt
outward,

2)  Connect the test equipment to RS-440 as shown in Figure 2.
NOTE: Do notuse EXT ANT terminal for tracking.

3) Set the AM signal generator frequency to 600 kHz for 30% modulation at 1 kHz with tuning
pointer set at the same frequency.

4) Increase the AM signal generator output until a sine wave appears on the oscilloscope display.
Then, adjust T9 for maximum audio output (Dial frequency Alignment).
Also, adjust T8 and AM bar antenna for maximum output (Tracking adjustment).

5) Set the AM signal generator frequency to 1400 kHz and place the dial pointer in the 1400 kHz posi
Adjust CT7 for maximum audio output (Dial frequency Alignment).
Also, adjust CT5, CT6 for maximum output (Tracking Adjustment).

6) Repeat the above steps until no further improvement is obtained.
NOTE: When adjusting the cores or triming capacitors the audio output level will rapidly inc
and the level meter pointer go off scale. In this case always decrease the signal gene
output for proper audio output. Do not change the level meter range.

BAR ANT. TAPE REC JACK
- S
B RS — 440 / 'QU'
RADIATION LEVEL METER OSCILLOSC
SIGNAL LOOP ANT. (VTVM)
GENERATOR

1 kHz 30 % mod.

Figure 2. AM FRONT END ALIGNMENT SETUP

5. AM SIGNAL METER ALIGNMENT
The same test-setup as above.

1) Increase signal generator output to approximately 80 — 100 dB and adjust RV 3 for reading between
and 5" on the scale.



FM IF ALIGNMENT
A. CENTER TUNING METER ALIGNMENT
1) Place the selector switch in the FM position,
2)  Adjust T6 to bring the meter pointer on the exact center of meter.

B. FM IF ALIGNMENT

1)  Couple the output of the sweep generator to T3 (RF Transformer) through a coupling coil (2
turns of viny| wire) as shown in Figure 3 (A).
IMPORTANT: Do not ground the coaxial cable sheild lead.

2) Connect the detector probe to the pin 13 of IC2 and ““G"" (ground) as shown in Figure 3 (B).
probe lead should be short as possible and the ground lead should be connected to chassis groi

HA1137W

Oi ) . =

D P
=

|
T3 77 E%‘fé‘“- 0SCILLOSCOPE
10.7 MHz COAXIAL
SWEEP CABLE
GENERATOR
(A) (B)

Figure 3.

3)  Set the program SELECTOR switch to the FM position.

4)  Increase sweep generator to provide about a half of the saturation level as indicated on the osc
scope display.

5)  Adjust core of T5 for highest, widest and round top display as shown in Figure 4, CORRE
(Since ceramic filters are used in the |F circuits, ignore 10.7 MHz center maker in the akt

alignment).

NOTE: When replacing a ceramic filter always use the one having the same colour dot.
INCORRECT CORRECT INCORRECT
(TOO LOW) (TOO NARROW)

Figure 4.



7. FM FRONT END ALIGNMENT

1)
2)

gt Bhwan B2 /LS
_(:0 <|zo
T .

SIGNAL

Set the program SELECTOR SWITCH to the FM position, and FM mute switch in the OFF positio

Connect tast equipment to the RS-440 as shown in Figure 5.

f=88-108 MHz

| DISTORTION ANALYZER/LEVEL METE
150-2012ﬂ

2

VA _"\(__

V

RS-440

_ LA
150 OSCILLOSCOPE

GENERATOR
1000 Hz 100 % mod.

3)

4)

5)

6)

8. |IF
1)
2)

3)

Figure 5. FM FRONT END TEST SETUP

Set the FM signal generator frequency to 90 MHz and Dial pointer to 90 MHz. Then, adjust T4 until
sine wave appears on the oscilloscope display, and adjust T1 — T3 for maximum output.
In this alignment, set the signal generator output for maximum output.

Set the signal generator to 106 MHz and also adjust CT4 in the same way as T4,
Then adjust CT1 — CT3 for maximum output.

What is more, set the signal generator to 90 MHz, adjust T1 — T3 and CT1 — CT3 in the same manner
3).

Repeat Step 3) and 4) until no further improvement is obtained.

NOTE: When audio output is increased during alignment, always decrease the FM signal generatt
output to such a level that the sine wave on the scope includes visible noise pulses to avo!
inaccurate alignment due to limiting action.

DISTORTION ALIGNMENT
Connect the equipment to the RS-440 same as Figure 5,

Make sure the FM TUNING meter, with no signal, indicates exact center reading. If not, adjust Ti
Then, set the signal generator frequency to 98 MHz.

Set the audio signal generator to 66 dB and set the audio distortion analyzer to distortion positio
Adjust the core T7 for minimum distortion. Adjusting T7 may upset the FM TUNING meter alignmer
slightly. Repeat Step 2) until no further improvement is obtained.

9. SIGNAL METER ALIGNMENT

1)

2)

Set FM signal generator to 98 MHz, 90 dB output and tune the receiver to the frequency, using th
TUNING meter.

Then, make sure the meter pointer reads between 4 and 5. If not, adjust RV2,



10. FM MPX STEREO CIRCUIT ALIGNMENT
Connect the test equipment to the receiver same as Figure 5.
76 kHz Alignment

A.

1
2)
3)

Place the MONITOR SWITCH in the STEREO position.
Adjust signal generator to provide 60 dBf with 1 kHz audio signal modulation.

Connect a frequency counter to the terminal 33 and chassis ground and read the frequenc)
should be 76 kHz £ 300 Hz. If not, adjust RV5.

SEPARATION ALIGNMENT

1)

2)

3)

Modulate signal generator with stereo composite signal (mod. f = 1 kHz/400 Hz). And se
signal generator output to 66 dB.
Make sure the FM TUNING meter indicates exact center reading.

Modulate the signal generator with normal left channel composite signal and observe the ot
signal of RIGHT CHANNEL TAPE REC jack. There should be minimum leakage from the L
CHANNEL. Adjust RV4 for minimum leakage voltage.

Next, modulate signal generator with right channel composite signal and observe the right chi
signal leakage appeared on the LEFT CHANNEL TAPE REC jack.

The leakage voltage should be the same level as of the right channel. |f not, readjust RV4 for (
and minimum leakage at both outputs.



|
I _ |
! ANV ¥IMOd i LHOW Ml ow | 1
e () TORLNGD dNY DI n sl L-dWY 38d =0 ONOHd
ANOL 0 — “
I
1ndLno - 1 “
HINVIdS —— 2 _
TOHAINOD -1 n !
dWY H3IMOJ 1437 1431
JEE R _ (R1} =— w__.__wp dAV DN L oal — 1-dWV 384 ||“. ~O ONOHd
_ L_I'§ "
I === e &
e g ——— - = o ll.rllll”ll-lnl.l'llll”.'lb‘. ||||||| ad
NOIL235 010NV P e T |“
1 I
- o e e e e e g o e — e oy e 1) ZH |
- 20~ 1 1 - 250 |
__I o% | 1 ssv=z-zo | oo L
“ (H3L13) L=t __ & I | ANV
N > ———pltaid1L0au |- | HOLYHNOIY [ | 4 - noicsL-eg] ) N
L ! 39V110A | ' ¢l
| __ | | “ “
| I L_4! 130 o | aww .
I 20 0+ | T anvan [§] YW ¢ 44 “ u
P e s il I
“ATANTWINOT A1 L)
|||||||||||||||||||||||||||||||||| g S
_ql N ¥ G._..Sq — |L | "
i i B e e s i o . . e et e o e s e -
1 _,V i JDEINNLWY |
i " :
! - | 2174 i
| ¥3Ld VBA00R0 250 | :
g g ANV “LX3
! . m__ N Beel o | Gauais “ 1v201 " X
“ 1 |
_ — — “ ZHI L'BLL ~ L6 |10) el “
|
i -l : |
1 w anwosia g | ®© @ 1 w N PU — anv g !
1 ONILNW ﬂ HILLINIT/dNY 4314 H3LN4 dNY | H3LlTi4 44 |
- il
| 1
- NOLLD3S Xdi/4) N4 | ZHNLOL 14 THNLOL = L)~ 19 M
|
A A A L . .- iNv

WYJOVIa 20078 v

10



"L wanbiy

ONIONIYLS Q¥0) TvIa °S



6. BOTTOM SCREWS ASSEMBLING

Note that the length of screws for the wooden cabinet are different.

SCREWS A : ROUND HEAD TYPE OF SCREW ﬁ 3x 18 mm

SCREWS B : FLAT HEAD TYPE OF SCREW V 3 x 20 mm

Figure 8.

12



7. ELECTRICAL PARTS LOCATION , PRINTED CIRCUIT BOARD:!

PSMAD2ECOX

Figure 10. MIC AMPLIFIER (PSAZ007COX) Figure 11. TURN OVER (PSSW048COX)



| 6066606 666 —

" [PSPWO022¢0X]

ici_j'lsov 4AT Mo" AT

. -Fz ." -*@

Figure 13. POWER SUPPLY (PSPW022COX)

14



Figure 14. FRONT END FM IF/MPX (PSTU020COX)



Figure 15. TONE AMPLIFIER (PSPT007COX)







XPLODED VIEW




18

:

Qi oz 03 c
PSTUO20COX 35K45(8) 25C535(81  25C460(8) 25C+
=] o len na T3 i B
=3 ST e pit e e 1
T = c,Iir e Lol o
= 1~ STETB||BE T T e
1 2 i3 oevy O G5E] g
O—:" cve ' pi q i

AW OBLE LNT
BL?

pucd s cr| ms | B
o J‘m ar) 22k
L ik call il i e i, e
P P CI . "z
s ¢ om ] at w
! nis =
ey i, on
oo
o4 - -
a3l T
25C4581¢.0 | 8 anls T
p3g geay A1 o3 & | con cen | cro] (E
" < " .- 13K
arn Toax 34w g . |0|6=|'u.;wl‘ L]

s Los

auxz

aun o

TAPE A
({43 n

[secETon]

Tt

L

™o

el

| Avo
ayriQ

aux 20
PSPAO2BCOX
[PLs

-{. |
220

L]
HOOw

!PSPTCD? cox

' Q1.2
254798 (6!

a3,.4
| Z5CI683 QR

@5.6
25C16851QR)

$TEaEn
moNG

VB -y
| 200 !

2 [
lf,fi,t-

' '.r£;§5 :a
o=

) dv@‘

: :,3':-__9
T

L)
! o2 22eF

d

o
oz pA3
T30F 20



C DIAGRAM

]
1

s, oar4

Q7 LL G0 Qiz
2ZSCI39BMR]  2SCIGBSIQR) 25CIB260.Y) ZSCISGSI}RJ_

.

55512

25C458IC01x2

uerl il
a7k | B
gy

i I

SFVICONSUCTOR TeRmiNaL LONNECT 0N
(HOTTOM VIEW UM FSS CTHOMWISE NOTED |

L3 T [y

Witw

a=
HA=i187

e e T i A
@ \/ o PLIO
—&)- el = = = = STERED BEACON
Q1.2 Q3.4 056.7.86.9 0I0J2.1415,16  QI1,I3
! PSMAQ26COX 25A798 (6) 25p3581DE) 25CITOGIFG) 25CIGB5(Q.R) 2SA564A(QR) |
7 O}y ¢ s
7] AN
i | r
1 vy, SPLANES
6 "
—0r G o))
y -
L)
¥
Ic
i
(]

o o

'iu.“?»{(,

LE 29w Cie
P

4
§;

—32
3 € =
:‘f' :g :’nn[n
:' 2
o
e

NOTE

ALL VOLTAGES MEASURED FROM COMMON NEGATIVE

CHASSIS GROUND WITH VTVM AT NO SIGNAL.

2. CAPACITORS VALUES ARE
OTHERWISE NOTED Pw=PICO FARAD

3 _RESISTORS VALUES ARE IN OHM. K=K OHM.

IN pF UNLESS.



10. PARTS LIST FOR RS-440

SYMBOL NO. DESCRIPTION SYMBOL NO. DESCRIPTION
Fuse 2.5AT (spare) Support, pwr board fitting
FM Antenna-T-type PT1 Power Transformer
Front Panel Terminal, GND earth, chassis
PW Board ass.y (MIC) Bushing, lead wire
Bracket, heat sink stiffening
Bushing, security lamp PW Board ass’y (MAIN AMP)
PL1 - 10 Lamp, 6.3V 35mA
Bracket, security lamp Heat Sink
Cover, lamp IC1,2 Integrated Circuit S-60W
Bracket, push switch Bracket, chassis supporting, right
PW Board ass'y (TURNOVER) Lug Terminal, 1L4P
Side Panel, right
Reflector, meter Clamper, lead wire
Pulley, dial thread Bracket, dial pulley, Up
Stud, dial pulley i Dn
Spring board, meter | PW Board ass’y (TUNER)
M1 Meter, signal
M2 | “ tuning Dial Drum
J3 ' Jack, Headphone | Spring, dial drum
S1 Switch, rotary, Speaker mode Shaft, selector switch
PW Board ass’y (TONE MAP) | Coupler,
PW Board ass'y (PRE AMP)
Bushing, selector switch
Flywheel ass'y Rear Panel
Dial Indicating Plate Bracket, tuner board
Cover, security lamp J7 Terminal, ANT
Shade, dial plate, left Jack, 5P DIN, REC/PLAY
i right Terminal, GND earth, rear
tuning shaft Spacer, MAG SENS sw.
Holder, dial pointer Bushing, Ant. cord
Dial Pointer BA1 Balance Coil
Dial Light Ass'y BA2 Bar Antenna
Bracket, chassis supporting, left Holder, bar antenna
Chassis *
C1.2 Elyt. Capacitor 10000uF 50V =
Connecting plate, Elyt. capacitor J4,5,6 Terminal, SPEAKER
PW Board ass'y (POWER) Cover, voltage selector
l Support, B
F1.4 | Fuse  2.5AT s2 | Voltage Selector Socket
F24 " SAT Fuse holder




SYMBOL NO. DESCRIPTION SYMBOL NO. DESCRIPTION
'Jock, AC receptacle Screw, oval flat, cabinet
Escutcheon ass’y Hexa. Nut, flywl ass’y
‘Handle, escutcheon “ Ant. holder
|Spring, push switch " volt selector, Ant. |
Ring, L Washer, cabinet
|Button, " " flat, GND
Knob, tuning " inside toothed, Ant. C
| " selector sw. selector
| " MIC VR " inside toothed, Flywl
“ tone Stop Ring, dial drum
o VR Washer, Ant. GND
= balance PW Board
|Cabinet ass'y Q1,2 Transistor 2SAB4;
Foot Q3,4 " 2S5C17C
|Shade, selector lamp N Jack, MIC
R1-3 'Metal Oxide Film Re. 220 ohm 12w | | VR? Contral, 10KA
Plate, se. no. Short jumper 12.5mm
Label, power board c1,2 Elyt. Capacitor 33 wu
" ETC C3,4 Ceramic Capacitor 82 p
| % iGotioms sililiet C5,6 Elyt. Capacitor 10 u
IImtruc:tion Book, English, French = =18 ‘ " 47 »
” German, Swedish cn.12 ‘ : LI
Screw, tapping, dial light ass’y etc. M3x8 c13 Ceramic Capacitor 4700 p
i rear panel etc.  M3x8 C1s5, 16 : 10 p
| " inside toothed, tuner board etc. R1, 2 Carbon Resistor 1.5K o
M3x8 R3, 4 " 100K
“  pan head tapping, shade M3x8 RS, 6 i 180K
= " pre amp etc. R7,8 "’ 680
) _ M3x8 R9, 10 # 270K
escumhwﬁ o R11,12 ) 2.2k
- = foot M4x18 e e
| " flat tapping, excutcheon M3x6 iyt Boar_d
" " ACjack  M3x8 Py et
o i bt M4x20 Connecno‘n !’Iug. ‘GP
*  ounheed, Dl sk M3x6 PW board joint wire, 11P
" " Ast Noler M3x20 Ci-4 Mylar Capacitor 022
- “  FNAntGND Maxio | |56 ) 4057}
3 " voltage selector M3x20 g: . :: . '303313:
i 2 phono sw. M2.6x8 ) i
" R1,2 Carbon Resistor 820K ¢
semus, pulley brkt M3x6 .
e flat head, handle M4x10 R34 o
*  bind head, pulley M2.6x6 s

20



SYMBOL NO. DESCRIPTION SYMBOL NO. DESCRIPTION
01,2 Transistor 2SA798 (G) R13,14 |Carbon Resistor 75K ol
Q3-6 | = 25C1685 (Q.R) r15, 16 | - 8.2K
VR1 Control, 200KMN/200KB, loud 53,54
VR2 -4 “  BOKB, treble bass, mid 712,18 " 27K
81 | Switch, push, Hi Filter R23-28 - 4.7¢
S2ab " MONI. A.B R31-36 : 10K
S3abe = Loud. Stereo MONO. Tone R37,38 " 4K

Flat R389, 40 bt 3.3K
Connection Cord ass'y R41,42 = 43K
i R43, 44 " 330
Terminal, 7P R49, 50 = 39K
Shielded Wire R51,52 o 680
Short jumper 12.5mm PW Board
Lead Wire, solid type, 70mm black D1 Diode SS-5
' . 120mm brown D2 [ = SS-5R
i 120 red iFuse holder
‘ " 70mm orange ITie Point 16mm
e 70mm yellow Ci-5 Ceramic Capacitor .01 pl
! Bracket, VR mtg. R1,2 | Metal Oxide Film Re. 1.5K ol
| Screw, semus M3x6 R3 | Cement = 120
C1,2 Elyt. Capacitor 33 uF 25V R4 Metal Oxide Film Re. 56
C3.4 Ceramic Capacitor 12 pF 50V PW Board
C5,6 2% 33 pF 50V Q1,2 | Transistor 2SAT79¢
C7,8 " 680 pF 50V Q3,4 = 25D35¢
C11,12 Mylar Capacitor 01 uF 50V Q5-9 i 25C170
C13,14 " 8200 pF 50V Q:g, '216 i 25C168
c21,22 Elyt. Capacitor 22 uF 25V -

23,24 i Q11,13 Diode 25A564
C31. 32 47 uMF 28V | 1p1_g " 151553
C25, 26 47 uF 1ov D9 i VO06C
C27,28 - 47 uF 25V D10, 11 gl 151655
C29, 30 10 uF 25V PL1 Posistor PTH487A03BE302T¢
C33,34 | Ceramic Capacitor 120 pF 50V £1.2 Choke Coil 25 pul
C35, 36 ' Mylar Capacitor 068 uF 50V L1 Relay
R;'S?SB | Carbon Resistor 82K ohm 1/4W Ternlinal, ::

Hgot‘z;‘gao " 16K " " Short il..::'nper 12.6mm

5 6 " " o
Ras _ a8 , 2.2K c1,2 Elyt. Capacitor 47 ul
R7.8 o 22K o C3.4 Ceramic Capacitor  2Z0 pl
R9, 10 22m o Cs5.8 " 4 o
R11,12 i 68K " " c7.8 " 7 pl

Cs, 10 Elvt. Capacitor 47 ul




SYMBOL NO. DESCRIPTION SYMBOL NO. DESCRIPTION
C11,12 Mylar Capacitor .01 uF 50V R64 Metal Oxide Film Re, 330 o
C13.14,19 Elyt. Capacitor 1 uF 50V R6S, 66 Carbon Resistor 18K
C;g ;48 39 Ceramic Capacitor 4700 pF 50V :g; 07N i : ) ' 22

L etal Oxide Film Re. 470
C17,18 Elyt. Capacitor 47 uF 10V RE9 4 i
C31,32 * 33 uF 16V PW Board
G35 ) iRl ol B Integrated Circuit ~ HA-11¢
C36 8 68 uF 50V 1c2 " HA-11¢
c37 Mylar Capacitor 3900 pF 50V Toe) " HA-11¢
c38 Elyt. Capacitor 22 uF 50V a1 Tk 3SK45
Cc40 ™ 33 uF 25V Q2 " 25053t
ca1 " 100 uF 16V Q3,14 - 2SC46(
R;h,zhg,shs Carbon Resistor 47K ohm 1/4w | [ Q4 -6 " 25C4st
R3, 4 " 15K * i Q7 ” 25C13¢
RS, 6 N 39K o 08, 12 " 25C16t
R7, 8,49 " a7k 8,13 ) A
RO, 10 - 39K - Q10 25C18:
R11,12 " 330K " i ' ZA70
R13, 14 Metal Oxide Film Re. 5.6k 172w | | 01 =9 Shode 15180
R15, 16 .. 29K * = D10 MZ314
R17.18 a 5.6 = W cvl1-7 Variablle C_apacitor w/trimme
R19. 20 5 10 . IW CF1-3 Ceran"uc Filter 10.7M
R21,22 i 270 " 2w s ' : ot

31 - 34 . ) L.P.F Low Pass Filter
FI52 Carbon Resistor 10K 174w Socket, 16P

Shield, front end
Raa, 47,45 i ZK v " locallF
R37, 38 ” 56K " RV2 Resistor semi-fixed 20K
R39, 40 " 20 ~ d RV3 " 1K
R41,42 o 82k " - RV4 re 200K
R50, 56, 72 N 33K o RVS “ 10K
R51 " 270K * " L1,3,4 RF Coil 1.95 4
R563 o 22k o L6 " 18 &
RS54 : 2 " " T " .055 4
R55 Metal Oxide Film Re. 1K " 2w T2 " .055 o
R56 Carbon Resistor K - 174w T3 " 055 4
R58 " g2k " " T4 “ 034
RS9 " 150K “ T5 LF.T. 107 A
R60 " 220K " " T6 - 10.7 0
R61 e 470K " ® T7 - 10.7 A
R62 " Ll v T8 RF Coil 270 &
R63 = 12K 7 = T9 ” 145 .

22



SYMBOL NO.

DESCRIPTION

T10

C1, 8,54
c2,7

3,40, 45
C50, 63, 56
58

4,11,12
C17,18, 21
22,52

C5,6
co

C13
Ci14,15
Ci16
Cc24

25-27, 29
C31-34, 41
63, 91

C28,69,70
C30
C35, 66
C36
Cc38
C39
C42
C4a3
C44
C46
C47,67
Ca8
C49, 92
C55

C57
C59
Cceo
Cce2

| LF.T.

SYMBOL NO.

DESCRIPTION

455 KHz

| Plate, pw board reinforcement

i Heat Sink
| Screw, tapping

Tie Point 16mm
Ceramic Capacitor

0"

Minic Capacitor
(a kind of ceramic)
Ceramic Capacitor

Elyt. Capacitor
Ceramic Capacitor
Elyt. Capacitor

Ceramic Capacitor
Elyt, Capacitor

Ceramic Capacitor
Elyt, Capacitor
Styroflex Capacitor

Ceramic Capacitor

Mylar Capacitor
Ceramic Capacitor

Short jumper 12.5mm

25C1398

10
100

.01

.022

18
51

10
22
33

0.47

10
330

220
220
.47
3.3
4.7
.001
.33
22
.001

.033
150

pF
pF

wF

uF

pF
pF

pF
pF
pF
pF

uF

uF
pF
uF
uF
MF
uF
uF
uF
uF
uF
uF
uF
uF
pF

pF
uF
uF
pF

M3x8

50V
50V

50V

50V

50V
500V

50V
50V
50V
50V

50V

16V
50V
50V
16V
16V
50V
25V
25V
50V
25V
25V
50V
16V

1oov/
125V

16V
50V
50V

Ce4

C65

CBB. 73,74
79, 80

Ci,72

C75-78
C93, 94
C95, 96
C97,98
R1
R2,43

3,40, 45
R51, 57, 58
95,100,101

4,89
R13, 16
46,92

R5

6, 26
Res — 68

R7,54
R10

FI”' 27, 35
36,42

R12

R14

R15

R17, 34
R18, 19
R20, 37
R21,98, 99
R22

23, 38
Rgs’ 84

R24, 30, 93

25, 39
Rs1 62

R28
R29, 50
R31
R32
R33, 47
Ra1

Styroflex Capacitor

Elyt. Capacitor

Styroflex Capacitor
Elyt. Capacitor

"

Carbon Resistor

"

510 p

33 p
22 p
1100 p

i
100
22
100
™
1.5K

=2~ - S

5.6K

100

22K
47K

1K
12K

10K

47
27
22
33K
560
330
470
560K

1K
2.2K
47K

12K
1.8K
56
470K
220
150




	SETTON RS 44001
	SETTON RS 44002
	SETTON RS 44003
	SETTON RS 44004
	SETTON RS 44005
	SETTON RS 44006
	SETTON RS 44007
	SETTON RS 44008
	SETTON RS 44009
	SETTON RS 44010
	SETTON RS 44011
	SETTON RS 44012
	SETTON RS 44013
	SETTON RS 44014
	SETTON RS 44015
	SETTON RS 44016
	SETTON RS 44017
	SETTON RS 44018
	SETTON RS 44019
	SETTON RS 44020
	SETTON RS 44021
	SETTON RS 44022
	SETTON RS 44023
	SETTON RS 44024
	SETTON RS 44025
	SETTON RS 44026
	SETTON RS 44027

